DIVISION AND MULTIPLYING BY 10s (H - ST 4)
DIVISION BY 1000

Name:

Time:

Score:

20901000 == 1000 =

22817000 = 1000 =

25726000 < 1000 =

20981000 <+ 1000 =

) 344000 + 1000 =

20203000 <+ 1000 =

203338000 == 1000 =

25723000 < 1000 =

29611000 == 1000 =

s 630000 <+ 1000 =

Mathematics: Division - Level 2 - Horizontal - Set 4
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833000 = 1000 =

802000 - 1000 =

358000 = 1000 =

999000 - 1000 =

172000 + 1000 =

481000 <+ 1000 =

830000 = 1000 =

918000 - 1000 =

21000 = 1000 =

501000 = 1000 =
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